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SA el
I THHETY
el ™ (&)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
= 2,612
& 1,392
= 3,480
QA S AT HMAOIH RS (2 X) 9,000 9,000 0
= 2,700
i 6,300
201 er2d| 9,000 9,000 0
S 2,700
= 6,300
01 AlR2teltl 9,000 9,000 0
NHISAEUHAIH RS 9,000,000& 9,000
= 2,700
i 6,300
gAURER(EX) 3,000 3,000 0
= 900
= 2,100
201 Br2E| 3,000 3,000 0
= 900
e 2,100
01 At2telHl 3,000 3,000 0
Nelg NSEHLAE 3,000,000 3,000
== 900
= 2,100
HlZsd 119,260 104,260 15,000
308 MAISHHSOIE 119,260 104,260 15,000
10 0H=ZsdXAB2x 119,260 104,260 15,000
NEEYAXTIA 33,660,000& 33,660
NusEdx 52,700,000& 52,700
NeEH2SXH 32,900,000 32,900
HHzsd(2x) 3,160 3,160 0
& 3,160
308 XXM SO0l 3,160 3,160 0
= 3,160
0 0HlZ=dXdESER 3,160 3,160 0
Dotz S8X
3,160,000 3,160
= 3,160
SESEHNALAEIEZS 385,560 0 385,560
201 er2d| 376,560 376,560
01 At2teltl 1,560 1,560
NSE2HUH MRES 7
130,000& * 12 1,560
02 s3=48l 375,000 0 375,000




SA otE 2|t
I THHETY
2l ot F (&9 &2l)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
NCCVSE2MEE 3323
15, 166,6662 * 12 182,000
1)CCTV AlE [AI2==H] 500,000 *60CH 30,000
ICVEEEHME SXIP4 2|
13,333,333& x 123 160,000
1CCTVES S 2 MAE SI1FH0I, F=I gt
250,000+ 12 3,000
405 AH&HFSH 9,000 9,000
01 L =ESFH SHI 9,000 9,000
Ne=2esll X 9,000,000& 9,000
plEgeHlAdZ A2 E(2X) 65,000 65,000
= 19,500
= 13,000
a 32,500
401 AIZHIZL SO 65,000 65,000
= 19,500
= 13,000
o 32,500
01 Al=H| 65,000 65,000
DRI HIAS4AL 25
65,000,000 65,000
= 19,500
< 13,000
= 32,500
HIAQHN B 2S(EX) 72,500 72,500
= 29,000
o 43,500
201 er2d| 72,500 72,500
= 29,000
= 43,500
01 Ar2teltl 72,500 72,500
NY=RIHES2S 72,500,000& 72,500
= 29,000
i 43,500
TRIHMEE (BX) 52,000 52,000
= 20,800
o 31,200
307 2I2t01 & 52,000 52,000
= 20,800
= 31,200
06 28= 52,000 52,000
NZe 2SI 52,000,000& 52,000
= 20,800
o 31,200




SA otE 2|t
M L
el Ay (e &)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
grotdsig2d(2x) 2,000 0 2,000
= 800
o 1,200
201 Er=23E| 2,000 0 2,000
s 800
= 1,200
01 AtR2tel] 2,000 0 2,000
Ngcotdstg2y 200,000 102 2,000
= 800
o 1,200
UM AL S (FRIZ 001 &F) 50,000 0 50,000
401 AlIZHIZ 201 50,000 50,000
01 Al&HI 50,000 50,000
NHIS eraloe 2HS01 ALY
50,000,000 50,000
Ar2l XH et 763,348 2,357,517 A\1,504,169
= 47,900
= 90,510
= 624,933
Ar] XK e 38,240 73,472 N35,232
201 Er2 & 10,140 14,360 N4,220
01 Ar2teltl 10,140 14,360 N4,220
N2 &N L2t 50,0002 x20< 1,000
DS EE M
1,000& *5005+23] 1,000
N=ottEas 222 M
10,0002 200 2,000
NRIIAMUEIC S QMY QIAE™EI} %
E 150,000 %10 1,500
DA AHR 2SI 70,0003+ 122 840
DAL ZRF2 0HAH
8,0002+x5&+702] 2,800
DHHANH =S HHRAN 2R =4
Bl 1,000,000& 1,000
202 OdH| 8,100 13,500 25,400
01 =LHOIHI 8,100 13,500 A5,400
DAMEITHY SR8 0
8,100,000 8,100
401 AlIEHIZ 201 20,000 45,612 N25,612
01 Al&HI 20,000 45,612 N25,612
NAIEER X2l 20,000,000& 20,000
Hettheetdst =g (2X) 5,800 5,800 0
= 2,900
= 1,450




SA orA et
M L
S AFSITH CEREED
SA - ZE - EI(3) - MRAY - BYS e HIRE2
= 1,450
201 B2 5,800 5,800 0
= 2,900
== 1,450
o 1,450
01 AFR2t2I8| 5,800 5,800 0
DRI USE 5,800,000 5,800
= 2,900
& 1,450
= 1,450
QIIIXIA(EX) 66,500 148,865 A82,365
301 LeENZ 66,500 70,500 24,000
05 S| EA2CHAIA 62,500 62,500 0
NE 822l JI=ZHUs X
50,0002 #25E « 12 15,000
Nalgagl dedsts 7
100,000& +*5Z + 1504 7,500
Nz 2L 2 BtOtsSal X
30,0002 * 100 * 10 30,000
NoBLEH &=+ A28 K&
100,000 *100& 10,000
4 J|Et2 a3 4,000 8,000 4,000
DiL=0ld 2
100,000 x3& %102 3,000
=425 HISX 100,000& *10& 1,000
MHEF S AHESF=HEASA LR 32,500 32,500
101 e124H| 10,500 10,500
M IIRNZZ2XNSE 10,500 10,500
NTEE AYAL
100,000 *x35E 3] 10,500
301 LEIENS 22,000 22,000 0
02 Al2|2& " ==0ll= HE, NLMHA) 22,000 0 22,000
NFESE AYAIE 2 55,0003 400 22,000
AR 2 182,268 308,890 N126,622
201 Ler2Ed| 1,380 1,380 0
01 At22t2lbl 1,380 1,380 0
NZA222E Al
20,0003 %17 340
N3U2LRE 47
26,0002 *40& 1,040
301 22N = 180,888 307,510 N126,622
10 Me=RRBE 180,888 307,510 N126,622
DEGICIES=0= =4l)
753, 7002 x20E * 12 180,888
=2 222H 95,200 94,920 280




SA orE 2|t
M L
SRl ARSI THG (E+9: @)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
201 823 95,200 94,920 280
01 AtR2tel8l 79,500 79,500 0
N+==4 28 237 & 222 MH
4,00021 45002425 4,000
DS WAY 22l ZYl YR
455,000& *1091*10=] 45,500
NE+ST SIPES Ut
300,000 *107H* 102l 30,000
2 BZ2| 15,700 15,420 280
NH+SF BONLE T2
40,0002 % 1404 A %504 =43 11,200
Nea=a Tyl LX)
4,500,000 4,500
2R (BX) 212,600 212,600 0
= 45,000
& 37,800
= 129,800
201 er2d| 29,100 29,100 0
= 9,300
= 19,800
01 AtR22lH| 29,100 29,100 0
NAl=SE 2T N
29,100,000 29,100
= 9,300
= 19,800
207 A-1HE| 90,000 90,000 0
= 45,000
o 45,000
01 HA1ESH| 90,000 90,000 0
Nol=S& dasAIY S
90,000,000& 90,000
= 45,000
o 45,000
401 Al HIRL S CHYI 93,500 93,500 0
= 28,500
= 65,000
01 Al€H] 93,500 93,500 0
Nol===2 HoAAL FHH| 93,500,000& 93,500
= 28,500
o 65,000
Ao HE(EX) 4,800 4,800 0
= 1,260
o 3,540
201 =23 4,800 4,800 0




2N

ol B a| 1t

i

M L
Sl AL THE (e &2
S - BB CRI(S) - NIRAY - BaS 01l bt e HIm =2t
& 1,260
o 3,540
01 AR2eldl 4,800 4,800 0
NotEEotAE N 4,800,000& 4,800
& 1,260
o 3,540
=S FHILAId 22| (BX) 125,440 125,000 440
& 50,000
= 75,440
RECEESTT 125,440 125,000 440
= 50,000
= 75,440
01 Al 125,440 125,000 400
DolSSHOIN, YA DY YA LTS
4,480,0002 14l 2 #23] 125,440
& 50,000
i 75,440
KA TH 8,986,371 5,804,120 3,182,251
= 1,415,000
T 13,200
o 7,558,171
KA TH 93,990 111,820 A17,830
201 Br249H| 85,740 97,820 N12,080
01 AtR2teld] 24,740 24,620 120
DX S72HE +2BXNEN M
25,000 x60= 1,500
NS AIRESHI 70,0003 123 840
DEEZPN el 20,000,000 20,000
DS HRFX A
8,000 x4 H +753] 2,400
02 B2=2gt| 61,000 68,200 AT,200
DA Q2 L SAe2
5,000,000 x12& 60,000
DESEEEL] 1,000,000 1,000
202 o4l 8,250 9,000 AT50
01 =W G LI 8,250 9,000 AT50
DAL SRF=A SO
50,0003 *3Z *50 7,500
DAY HRFX SLE 20|
50,0002 15 750
AOtE Y (M SALY) 3,760,000 3,760,000
401 AlEBIZ 28| 3,760,000 3,760,000
01 Al&HI 3,739,000 3,739,000




2N

ol B a| 1t

i

HE: L
S XFATH CEREED
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
NEx XgA6He ZHIAY
1,392,000,000& 1,392,000
NExE BZAGHE FHIALY
1,392,000,000& 1,392,000
Netoh ASAGHE FHIAY
955,000,000& 955,000
03 AIZ2THBI 21,000 0 21,000
EX XLASHE FHIAY &R0
8,000,000 8,000
NEE BEASHE FUIAY AL
8,000,000& 8,000
N ASAGHE FHIAY AL
5,000,000& 5,000
Mol I & X HEH(EX) 3,062,878 1,189,000 1,863,878
= 1,275,000
= 1,777,878
401 A2 HIKL 2 0HbI 3,062,878 1,189,000 1,863,878
= 1,275,000
= 1,777,878
01 AlZHI 3,043,698 1,189,000 1,864,698
NEM ZES WHPIETT Z|
2,241,900,000& 2,241,900
= 1,120,950
= 1,120,950
NEx= ZEXF MHHIARX T EH
148,920,000 148,920
= 148,920
DHIB JHHE HAHSABT PR (NP2 &
&) 652,878,000 652,878
03 A2 28I 9,180 0 9,180
NS4 28 Mol XIF FHl ALY
8,100,000 8,100
s 4,050
= 4,050
NEx REXF HHRAX T EHl AILSTH
Bl 1,080,000& 1,080
o 1,080
EHEEEES(EX) 26,400 26,400 0
< 13,200
= 13,200
301 LELEN S 26,400 26,400 0
= 13,200
= 13,200
14 JIEt248=2 26,400 26,400 0
NEFHEE Ba= 26,400,000 26,400
< 13,200




2N

ol B a| 1t

il

M L
S XFATH CEREED
SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
| 2 13,200
A+H XHoH X 2 S & Al = 300,000 200,000 100,000
401 AIZHIZ RO 300,000 200,000 100,000
01 Al&HI 300,000 200,000 100,000
DA M Z SEHE W+
300,000,000& 300,000
A ol 2= 0101 ZH| 41,000 41,000
201 er2d| 31,000 31,000
02 35234l 31,000 31,000
DESSEPIRSONIES 10,000,000& 10,000
NXE HEI FXE= 11,000,000& 11,000
NSEAEA 2AAE SRES
10,000,000 10,000
401 AIEHIZ 20 10,000 10,000
01 AlZH| 10,000 10,000
DMHHZEAE SSE=
10,000,000 10,000
A ZAZAIEEHI(LRA) 1,362,103 100,000 1,252,103
401 AlZHIZ R 0HbI 1,352,103 100,000 1,252,103
01 Al&HI 1,352,103 100,000 1,252,103
NHIZ =81 A2 JH|
275,000,000 275,000
NEXE 2ol =54 w2 FHH
1,077,103,000& 1,077,103
AGHEFEI(WEAI) 30,000 30,000
401 AIZHIZL S0 30,000 30,000
01 AlZHI 30,000 30,000
ol ISASHE FHIAY
30,000,000& 30,000
ADtEEASZRINAS (EX) 280,000 0 280,000
o 140,000
o 140,000
401 AlZHIX S0 280,000 0 280,000
= 140,000
= 140,000
01 AlZHI 280,000 0 280,000
NA2 s Aszel 70,000,000& 70,000
= 35,000
= 36,000
NeEx 223 A=z 70,000,000& 70,000
o 35,000
o 35,000
NS4 AAE S22 70,000,000& 70,000
s 35,000




2N

ol Ba| 1t

il

HE: L
Cl KT CEREED
S - BB CRI(S) - NISAY - BaS 01l bt e HIm =2t
i 35,000
DX o A== 70,000,000 70,000
oy 35,000
= 35,000
g2y 50,000 50,000
201 2et2AH| 10,000 10,000
01 AtR2teld] 5,000 5,000
DXSXSYHS 28| 5,000,000& 5,000
03 AL2EHI 5,000 0 5,000
DXSNHSSNS DS 5,000,000 5,000
302 OI==2L Mo 243 40,000 40,000
02 IZICITHOH S S EsE A= 40,000 40,000
NDASTSYMC THaloY 2 sSPE8s BX
30,000,000& 30,000
DXSXSYUMS HHE2E2
10,000,000& 10,000
=CHIHoH 57,720 0 57,720
=CHAHSH 57,720 0 57,720
201 LBr2AH| 12,720 0 42,720
01 At 22l 42,720 0 42,720
DEUOH SRR OHAM
8,000 x3E *903| 2,160
DNEU LT AIRESH|
70,0002 x12& 840
DU 222 L USHA HE
25,000 *100 2 *43] 10,000
DS ole B H NS X3 A
19,720,000 19,720
DSOS oY EH22X KIJAAY
10,000,000 10,000
202 44| 15,000 15,000
01 =UOdbI 15,000 15,000
DEHMHERFE LAY
50,0002 x5H 60 15,000
HYy 2P ZH|(erA 22|t 23,650 0 23,650
JlE2al 23,650 0 23,650
Jl2dyl(erdze| o) 23,650 0 23,650
201 LBrEAH| 3,450 0 3,450
01 AtR2teld] 3,450 0 3,450
NEMEE AIR22|] 150,000& x23H 3,450
202 Ot 8,800 0 8,800
01 =W OdbI 8,800 0 8,800
NEME2Y =LY 50,0002 * 122 x83] 4,800




SN orE R
I dy2IIH(etd2e|t)
=9l Jl=3l EECREED
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
NEA2E S23 30
50,0002 x 10«82 4,000
203 =8| 11,400 0 11,400
01 VA2 LR=AHI 6,600 0 6.600
NII2GRFA 550,000 * 122 6,600
M EA2ELR=AH| 4,800 0 4,800
1)25210! ot 400,000 122 4,800
Heas(etd et 230,000 200,000 30,000
WA XIE 230,000 200,000 30,000
HEHHKE 230,000 200,000 30,000
R I1=8ES 230,000 200,000 30,000
=

01 JI=ds

& 230,000 200,000 30,000
DI

= HEg=s 230,000,000 230,000




